9
| (T

I — ! [ L1 |

'G?'C; )

[

Il © 5

15@@ -

l :

f=€D $= : imd i

L

10

&
Eﬁ

THIS ASSEMBLY SIMILAR TO
RIGHT FDC SUPPORT BRACKET
DOO000-01-05-1008

P—\
1 1

N

[ [T

-

REVISION HISTORY

ZONE [REV DESCRIPTION DATE

APPROVED

[ TeEMS o5,7/7,8,9 AND 10:
MCMASTER CARR
SUGGES TED SOURCE .

1 12 | DO0000-01-03-2022 | THREADED ROD2 AL6061-T6

1 11 | DO0000-01-05-2021 | THREADED ROD1 AL6061-T6

4 10 MCMASTER CARR 10-32 LOCKLNUT (NYLON INSERT) STAINLESS STEEL
90715A115 UNF TYPE 316

9 9 MCMASTER CARR M6 LOCKLNUT (NYLON INSERT) STAINLESS STEEL
94205A250 DIN 985 TYPE 316

4 8 MCMASTER CARR M6 FLATWASHER STAINLESS STEEL
90965A170 DIN 125 TYPE 316

4 7 MCMASTER CARR SOC HD CAP SCREW STAINLESS STEEL
92290A318 DIN 912 Mo X 12 LG TYPE 316

DRYLIN BEARING SQUARE SIZE 10

2 6 |GLKS WJ(»A_O1_4(JLLZ LLZ FTLOAT

9 5 MCMASTER CARR SOC HD CAP SCREW STAINLESS STEEL
92290A3526 DIN 912 M6 X 20 LG TYPE 316

2 4 D00000-01-03-2017 | SPACER DETAIL

2 3 D00000-01-03-2016 | ECCENTRIC HUB DETAIL

2 2 D00000-01-03-2015 | CONNECTING STRAP DETAIL

1 1 D00000-01-03-2014 | SIDE BRACKET WELDMENT
QTY ITEM PART OR NOMENCLATURE MATER I AL NOTES
REQD NO. IDENTIFYING NO. OR DESCRIPTION SPECIFICATION
__ _ PARTS LIST
DOCUMENT CONTROL STAMP DIM & TOL PER ASME Y14.5 . ITRACKING NO. United Stat
UNLESS OTHERISE SPECIE D el s g@on Lab Newpor  News
TOLERANCES ARE : of Energy mas Jefferson National Accelerator Facility Virginia
FRACTIONS DECIMAL ANGLES:
* N/A Z%x §I<1)1 £ .50 APPROVALS DATE HALL D-GLUEX
THIRD ANGLE PROJECTION |o°A DETECTOR
SEE PARTS LIST C L HUTTON 21FEBOB
bl FORWARD DRIFT CHAMBER
NS NLESS LEFT FDC SUPPORT BRACKET ASSY
MACH INED 125 / OTHERWISE % APPROVED SIZE[DWG. NO. REV.
D DOO0O00-01-05-1007/

DEBURR & BREAK ALL SHARP EDGES

DO NOT SCALE DRAWING

APPROVED

SCALE 11 USED ON ASSY NO. 000000-01-03-0000 SHEET

1 OF 1

3 ‘ Z

1




